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This XN™02is  — 912 927 292 an ART RI7 999937 9017 927 11n KT
according to »''71°7 who maintains that a an pays half 991>

Overview

The X3 states that (according to the 'X1mn 1" 7"»), omitting 1913 *%1 in the
XN™I2 is not a XMW since the Xn>72 follows the opinion of 2"7™ that a on
pays 1912 °x11. Our M0 discusses the possibilities of paying 7913 by a an.
The X3 later” mentions a four way npY>mn how to interpret the P105 of vy
21 Wi (which is written concerning a 27X NA7W aN).

1) X7 32 PYnw maintains that it teaches us that the Wi Sy is °p1 from the
71y of the Mw; everything of the MW is X172 MOX including the skin.

2) 19X " maintains that °p1 teaches that the 2w va is °p1 from 910 ¥n.
The owner pays no 7912 by a an.

3) 3" maintains that the Wi va is °p1 from paying for the M7 "7 (if it
killed a pregnant woman and caused her to abort the fetus).

4) ¥"1 maintains’ that the w7 Y¥a is *p1 from paying the 72y Yw owHw.

[727 maintains that there is no 7915 payment if there is no 79°p0 for the Mw."]
It follows that X" and *v"1 definitely maintain that there is no 1913 ¥ by a
an. According to 3" and X7 12 YAW a N may pay 1913 X1 (when there is
no 12°p0 211 [if they disagree with 7727]).

1970 ' maintains that a an which killed P17 mwn2 pays a 2> 19; he
derives it from a 1" from 7"772 an (who pays a 7912 °Xn).

Moo anticipates a question and resolves it:°
— NI NPV IND 9915 38N 05 OHY 9915 DHYN 19T N

And that which the Xn>72 omitted the difference that a ¥ pays a

complete 9212 and a an pays half 921> that is not an omission -
— HY53 9919 BYY PTI YWY T PTI S8N BYYM ON NN NN

For the Xn12 taught that a an pays 1''n and a 7% pays w'"'1 and 99% is
included in this distinction that a on pays 1913 311 and a T2 pays a 27w 193.

' See previous *X 1"7 Moo,

2 9981 3,87 7.

3y rejects the view of X"1 (no P09 is required to exempt the on from 1915 [when it is 79°p0 2°°11] since it
pays 11), and the view of 3" (M721 17 is paid only if 2°wiR X but not 2™ M) w"y.

* There is no 19°70 for the "W if there were no two witnesses that it killed, or if it killed 7am22 X5w.

> See previous footnote # 3.

% See 3" 7"7 >"w1 who asks and answers similarly. Perhaps N0 mentions it because it is similar and
relevant to other questions and answers later in this masoin.
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NN asks:
— ﬂb’?ﬂ: MIUAYI 9N 9999 O5YUN 139197 2INY YNIN AN ON)

And if you will say; notwithstanding the above, the Xn»72 still should have
listed this additional difference between a v and a on; that a v pays
29> even when the ox is stoned (for the 271 of a 79 is 77597 M) -

— %49 @YW 1T 1539 1ARYANT 99591 YD9% 5395 193N NV NYPDA NINYI oM
However a an is 72 from (even half) 7915 when he receives 193p9, even
according to »"79 for since a an pays only 1912, the P will say
(sarcastically) that you should bring the 177 an 71w to 7''>3 and they will
pay you from it. The an 2w is stoned for killing a person, he is worthless,” and since a

an pays only 191 (including the 991 payment) there is no obligation on the p°i to pay
9912, since the an is worthless. '’

N1D0IN answers:
— 191 P NN DHYYN ONNHY HYOI NINY 91217 W

And one can say; that this difference that a an pays no 7912, is included in

what the Xn» 172 stated that a an pays a 191a% 1''17. Since he pays only D17 it is
understood that he cannot pay 1912, since he is (to be) stoned.

In summation (1): According to the X1mn 1"s 7"2 there is no need to mention the
difference between a on and a 737 concerning 1913 when the MW is 712°p02 (the 731 pays
and the on does not), because that is included in the difference (mentioned in the &n»92)
that a on pays 1. There is no need to mention the difference between a 73 and a an
when the M is not 79°po 211 (if there are no witnesses, etc.) for the Xn*92 is according
to 2"7°7 who maintains that (in this instance) the on pays 7912 °X7; this distinction is
already included since the Xn>12 mentions the ?12°11 between 1" and w"1.

MooIN continues to ask:
— N2PY 2299 1929N P NY INNIN NIAYV NN 19 ON 998N ON)

And if you will say; if this is so'!, then from this very same reason why

could we not establish the Xn>>72 even according to ¥''1 -
— 9992 3NN ONI HVI19T

7 The pm» pays the full damage from his assets, regardless of the value of the P> (T972) .

8 This statement 72 02" 7"2 178°37 was made by (2,87 mP?) ¥" in response to R"1 who stated that the
P11 MW ¥ P00 comes to exclude a an from 910 *¥n. However ¥ argued that no P09 is necessary to
exclude a an from 912 >3, since 7> @YW 7"2% 1IN

° Even before he is stoned, a 2037 MW is X172 MoK and has no monetary value.

' The difference between a an and a 79M concerning 7913, that a an pays no 191 at all, is not included in
the difference mentioned in the Xn™73, that a on pays 1"n.

"1t is not necessary to inform us that a on is 7919% 7o since we were already taught that a on pays 1.
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who exempts a an from =212 52717; and nevertheless there will be no omission -
— 9915 8N NVIY 1INY TAVIN NY N9PDa YWY

For when the ox receives 17%°p% it is not necessary for the Xn»2a to
mention that a on is 9912 531 WD, since we already know it —
— 179 BYW 197 %29 1NN 1990 BIUNT 1191 199 BYWNR nnv pnng
For we have learnt in a /mw» that a an pays 12%%, and since he pays
12337, there can be no 7915 payment for T2 abws 7'"925 yxoam!’?
— DY %9 Y 1NN 1Y %9 5Y 119 NP NWH PRYN
And when there is no 17°po for the ox, for instance that we knew that the
ox killed through the testimony of (only) one witness or through the
testimony of the owners (in both of these case there is no 72°p0 21°), then -
= 9991 1P909 ON”NY YN P2 0N )’a
Whether the goring ox was a an or a v there are both 95151 21up
= (80 91 mPY) NYNNI NYIIN NNIY NIV P99 9INT NaYTN
Based on the ruling of 7729 who maintains in 7% FU39R AR W PO -
— MV NMHBA XYY PN A NINIY NV
An ox who gored a freeman without intent (to gore or harm him) is 9D
from paying 7912. The reason is -
— 9919 DNYYN DYYYA NYIPDA NVYAY AT Y NN PHYA 0N YPOO NUN MINIY
For it is written in the 770 ‘the ox should be stoned and its master shall
also be Kkilled’. We derive from this wp°17 that whenever the ox is stoned

the owners’ pay =912, However when the ox is not stoned" the owners are exempt
from paying 1912. Therefore whether the ox is stoned (if two 27V testify) or if the ox is
not stoned (if it was only one 7¥ or 12Xy 5"Y) the owners of the an pay no 791. If the ox is
stoned the owner of the an is MWD because of 121 7"2% 1IR3, and if the ox is not stoned,
the owner is 7912n MWD from the wp°7 of 727. Therefore it is understood why the Xn»92
did not mention that a on is 7912 *¥1n MWD because it is either irrelevant (where there is no
7°po, for a Ty is also 72771 MWL) or we know it already (where there is 79°p0) since it
pays 1913. Why then did we have to establish the ¥n>72 according to 3" when it can
even follow the view of ¥"1 that a on pays no 791.

N1B0IN answers:
—99W 51 NY 1913 333 X2¥PY 22997 333 597 PNT MY W

And one can say; that it is indeed so, that also according to »'' leaving
out the rule that a an is MWD from 7910 is not considered an omission (as

12 9,10 1P “ann. [1t is also mentioned in this Xn*2.]

" This is the same explanation used to answer Moo previous question (according to 3"777).
" There is (also) no 719°p0 if the 7w killed 732 X9w; see following footnote # 15.

' The m1wn on X, 77 states that if an ox killed 7133 85w there is no 72790 21M.
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explained in the question -
— NP N2PY 529 2319 XD 9INP NIT N

And the reason the X773 did not say that the Xn>>72 is according to ¥''1 is -
— 72Y 1092 2P (x,an 1Py YNNI NYIAIN NIY TIVI UWIHTT DIVN

Because V"1 in 7wnam a8 naw o oo interprets the verse *p1 wn Hya)

to mean that the an 7 w: Yv1 is free from paying the money for a killed 7ayp.
— 1a2Y 91911 9109 ONNY 2NY NAYPY 29 IN)

And therefore if the Xn»12 follows the view of p'', it should state another
difference between a an and a 7v7; namely that a an is 72y 7% MWL (as

opposed to a 7y which is 2°1). We cannot say that 71 XN -
— NN NPT XA 9MINT INNID 999Y INNT 99Y INMD)

Because what else did the Xn>12 omit that it omitted this rule of 17n 7Wd

72¥, and this would be a difficulty according to the X1 1" 7'"n -
— 1991 PRI I8N DHYN DNAY INNT NIN NIV IND 9995 '8N DIVWN INT

For if you will want to answer that the Xn*72 omits the 9212 321 (which a an
is Mvo) that is not an omission for we have already learnt in a ;mwn» that

a an pays a 1 1'"'1 and since he pays 1913 he obviously cannot pay 1915 (when he
is 72°po 27mn) for T2 oW 7"2% 1RCIn.

In summation (2): If we agree with 7127 (that there is no 7913 21’11 when there is no 211
77°pP0), there is no question (on the X111 1"5 7"n) why the &n°12 does not mention that a
an is different than a 79 for it is Mwo from 1913; for if there is no 77°p0 211 then both the
an and 737 are MWd from 791, and if there is a 72°Pd 21n, it is not necessary to mention
that the an is 7> from 7912 since this is known already, for a an pays only 1912.

mooin asks a different question:
— 4915 8N BYYN DN YDODHN YD 239D 119D NHIINT MY NI 9NN ON)

And if you will say; from where does the X723 know that 3'';1°9 maintains
that a an pays 2212 “xn?!'¢

mdoIN anticipates a possible answer:
— 9912 S8NMI YPI WY NI D) M1 ¥ 171’:‘,75 UITT 0IVN N

If the proof is because he interprets the word °P1 to mean he is exempt
from paying for the aborted fetuses'®, and he does not interpret it to mean

'® The X3 maintains that the xn>12 follows the view of 3" that a an pays 1913 *tn. There seems to be no
apparent source for this view of 3"™.

7%, 97,

'8 See 121 X"w1anm 0" who ask that if the X092 is according to 3";7, why does the Xn*72 not mention
that a 7¥¥ is M9 °n72 21 and a on is W"»¥1 M09,
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. 19 .
that he is exempt from 9912 531, The reason he chooses not to interpret >¥mm >pi
71910 would seemingly be because he maintains that a an is 1912 °¥12 211 (when there is no
1712°p0 21°171). This would be the source that 3"77°7 maintains 9913 °*¥n2 2°°17 an.

mooIn however rejects this proof.
— 19 85W 11 N%2Y NN NDIPDA NVYNHYIT 9IVT 1YY XY2D OYIYY NnbT

Perhaps 2"7"7 really maintains that a on is 191 *¥nn 1we; however, he
does not need the P05 of °p1 to teach this. For if the ox will be stoned the

an v is Mo on account of 9 a%w 7''a% 1IROAT -
— 12971 MV NP NYN PRYN

And if the 72 is not stoned (in a case of X"V 8"V or MxY 5"V) then he is Mwp

because of the P71 of 7129 (which teaches there is only a 7913 277 if there is a 270
772°P0). That is why 2"17°7 does not interpret 1912 *¥1» *p1 MWn %2 since there is no need
for a P05 (similar to the view of ¥"1 concerning ona 1913). The question remains why the
X3 assumes that 2"7°3 maintains that 1912 %17 2%wn on!

Mo0IN answers:
— 991 7D 1¥NPYT DIVN IND 9910 I8N DIYN DNT INIRPT NNT 91217 W

And one can say; this which the Xn3 states that 3" maintains that a an

pays 7912 53717 is not because we heard that this is so -
— 1297 7205 N9 29915 98N DHUNT 920 S8NT MY NON

But rather the X7 means to say that "7 may maintain that a on pays
22> %2717 in a case where there is no 72°P0 (R"Y 8"y or 13y 2"Y) and 2" will
not agree with 7739 who maintains that if there is no 72°pd there is no 1913, but rather
3" will agree -

— 9819 BYWN BNT (415 97 9AIN TY99 515Y 1975 1) 1YY IIRT oV a9
with ©'"% who also maintains later in the end of %3777 7% 77 that a an

pays 92. 2"i°1 will maintain that there is 1913 when the an is not 7%2°p0 21.
— 1297 DIYN 9915 38N BIWN KY DNT YDP9HN Y01 %29 1YY NI*2D 33 ON)

And even if 3"';1>9 will also maintain that a an does not pay 921> 531 (even

when there is no 12°p0) because of the ruling of 7129, nevertheless the omission
of 7913 >¥1 in the Xn™2 -
— DYYWI9T9 NI NIV INY

is not considered an omission as I explained previously™; if we follow the

1% 913998 "9 on 2,8% A7 interprets *P1 M YY1 to mean 912 XA Pl

%0 This is in opposition to ¥" 8" who definitely maintain that a an does not pay 1913 (*¥).

*! Some commentaries insert the word 'xox' before 0",

% See (7X:) "W n who asks why do we not answer that the X092 follows the view of 1" that a an pays
910 (@ 1T Y.
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ruling of n12".

In Summation (3): The X773 is answering if we disagree with 727 then we can answer that
the &n>>12 follows the view of 2" (that when the W is not 77°P0 21 he pays a °¥n
7910) and if we agree with 7127 (and a an MW never pays 1912) there is still no Mw.

NvOIN continues:
— NN N/IT )2 PYNY 229 2319 NN 9199139 2811 1INT P11 NI

And it is indeed also true that the X723 could have answered, this Xn>12
follows the view of X% J2 @' -

2N N9IPY INY 9999 9133 Y19 1N 1 ¥y Pann vt
Who interprets the word °p1 to mean that he is cleaned (even) from the
value of the skin; the 1w %2 cannot derive any benefit even from the skin
of the 5p017 7Ww. And also according to him omitting 92> is not an
omission.*

Summary
We can explain why there is no 7% in the Xn>72 if we agree with 7127 (that

9910 DOMPwn 2°%¥2a PR 79°p02 W PRWD). If the an is 79°p0 21 there is no
need for the Xn>72 to tell us that he is Mo from 7913, since we were already
taught that a an pays 191»; so he is worthless and cannot pay the 7912. And if
the W is not 79°p0 2 nn then (according to 7127) there is no difference
between a an and a 7y for they are both Mwd from paying 791.

Thinking it over
I. Can we assume that the 7"» of Ximn 1" definitely agrees with 7127
(according to our X713)?

2. Is the payment of 1913 considered a 01p?*’

2 See ‘In Summation’ (2).

2 91 R, R0 PY.

» mpon does not answer this question. See 145 77wr 1" nX.

6 See ‘In Summation’ (2). The advantage of establishing the 73wn according to X7 12 is that it removes the
questions in footnotes # 18 & 21.

*7 See n"n1.
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